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i
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The figures in the right hand margii, indicgte Jull marks.

. Candidates are required to give thelr answers in their

~ own words as far as practicable.

Mlustrate the answers whereuer-necessary. A

Grou p—A

Answer any fwo questions, taking one question

from each of .the Sub-groups. 2x15 -

Subgroup—A(a)

1. {a) What are isoenzymes? Give example.
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(b) What is ultrafiltration ? Write about it's biological

application.
{(c) Define deamination and transamination.
(d) How does temperature affect enzym.e action ? -
(2+1)+(1+2)+(3+3)+3
N

2. (a) Bréﬂ-y“ raescﬁb,: the biochemical pathway TCA ~ycle

1rrentioru'n"g the enzymes involved in it. ~—~ -

T
(b). utate the energy’ expenditure of TCA cycle. =
-(c) What are the bicological functions of protein ? .

ro- “ % .8+4+3

3. (a) Describe the biokthemical pathway of urea synthesis. -
(b} Classify lipid with examples. _ -

]

{c) \ilhat is Electron Transport Chain (ETC)} ? Mentiqx_;ﬁij;g_ s

+
exact location. 6+6+ 3 _

Subgroup—A{b)

4. (a) Describe the detailed- structure of Ultra-filtration

membrane of nephron.
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(b)

(c)

(d)

(b)
{c)
{d)

(b)

(d)

Name the normal and abnormal constituents of wine,

What is micturition ref_lex?

How glucose and acetone can be detected in wine ?

5+4+3+3
Describe the neural control of breathing.
Write brief notes on Vital Capacity.
What is Chloride-Shift ?
What are the different types of hypoxia ?
7+4+2+2

" What are Cardiac Output and Cardiac Index?

Discuss the dye method for measurement of Cardiac

Output.
Discuss the factors affecting Cardiac output.

Describe the causes of different heart sounds.

{2+2)+4+4+3
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Group;-B

Answer any five questions, taking at least two questions -

{from each of the Sub-groups. 8x5

SuBgroup—B(a)

7. Describe the peculiarities of cerebral circulation. 8

8. Write the symptoms of hypervitaminosis for Vitamin A

and D. 4+4

9. (a) Define BMR and write down it’s normal value.
{b) Mention factors controlling BMR. (2+1)+5

10. Describe the structure and functions of plasma

membrane. 5+3

11. State the composition and functions of bile. 3+5

Subgroup—B(b)
12. (a) Describe the process of erythropoiesis.

(b) Discuss the role of erythropoietin in the regulation of ¢

erythropoiesis. 5+3
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13. Write brief notes on atherosclerosis and cyanosis.

4+4

14. (a) Discuss the role of renal buffers in regulation of pH.

/b) What do you mean by renal clearance tests ?
A g

6+2

1

15. Discuss the mechanism of blood coagulation. 8

16. Write down the process of CO, transport in the body.
8
Group—C
Answer a.ﬁy five questions, taking at least two questions
from each of the Sub-groups. Sx4
Subgroup-—C(a)

17. What are the sources and functions of Vitamin D.

2+2
18. State the functions of WBC. '_ 4
19. Discuss the role of factors affecting osmosis. 4
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20. (a) What do you mean by asymmetric carbon atom ? 3

(b) Give any two functions of endoplasmic reticulum. #

2+2
rd

s
-

21. Write a note of nitrogen balance.

Subgroup—C(b)

22. State the definition and physiological importances of

)

surface tension. . 242

23. (a) State any two peculiarities of coronary circulation.

(b) What is stanius ligature ? 2+2
24. What is plasmapheresis ? 4
25. Define SDA. _ 4

26. What is Hematocrit value ? State it’s importance. 2+2

W
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